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RE-AIPMT-2015/Code #D

RE-AIPMT-2015 Solution (Code-D)

91.

92.

93.

94,

95.
96.

97.

98.

CHEMISTRY

@)

OH OH
_ CHO
Ph— OH + CHCI, — ot >
CH=0

Its is Reimer - Tiemann reaction

(1)
__INoP
K= N 110,]
NO

L K=K

(4

MgCO, ____, MgO +CO,
84¢ 409

_ 84
. 8g MgO will be from ?9

84 100
- % Purity = ?XE =84%
@)

1 mole contains 6.02 x 10%® molecule

.18 mole will contain 18x6.02x10%

™M
(4)

' 1000xn 1_1000xn n_ 18
Molality = —“\om™ " Nx18 T N 1000
N 18 o177
n+N 1018
(4)

con.
It is zero order reaction .. 6x10™= 2q . 60
-.conc.of B=0.72M
(1)
a5 0 >0,0; =0F

25 2 15 1.0

99.

100.

101.

102.

103.

104.

105.

106.
109.
110.

11.
114.

115.

™
In basic medium rate of hydrolysis increases with
electron withdrawing group (-M effect predominates)
@)
BeCO, to BaCO, stability increases
™
Strong acid with its salt can not form duffer
solution.
™
C.No. =6
O.No. = +3
(4)
OF, is oxygen difluoride.
@)
CH, CH, CH, ¢
@
D=0
CH, CH, CH, ¢
G
3]
™ — 4§
CH,~G-CH<CH, —Hs, <:H3—(|:—ED:H—CI:H2—>1 .2-CH, Shift
CH, CH,
CH, (|3H3
A
CH3—%—CI:H-CH3T CHS—C=(|3—CH3
CH, CH,
2,3-Dimethyl-2-butene
(4), 107. (3), 108. (2)
3]
™
Lucas reagent in | & IV while S 1 in Il
4) 1M2. (1) 13. (4
™
Caprolactum is used for the manufacturing of
Nylon-6
(1) 16. (3) 17. (3)
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Since p of green and voilet are greater than 1.414 so they
will total internal refrected. But red colour will be vetracted

So Ans. is (3)

A

Date-25/07/2015 RE-AIPMT-2015/Code #D
118. (2) | 124. (1) 125. (3) 126. (4)
| 127. (2)
A z |
OH —H,0 | Inversion product will be more than retention
| product due to close ion pair formation.
I 128. (4) 120. (1)  130. (2
N O)j\/ | 131. ()
| 132. (2
) ) o O | With Ammonia derivation carbonyl compounds give
* According to question (2) option is + | . . . .
| addition followed by elimination reaction. Sligtly
probable answer | acidic medium will generate a nucleophilic centre
| for weak base like ammonia derivatives.
19. (1) 120. (2) 121. (1)
| 133. (4)
122. (1) |
123. (1 | Chlorine of chlorobenzene is inert towards
- nucleophile, which is phthalimide ion.
Structure isomers of C,H,N are 434, (3) 135.7(3)
CH,—CH,—CH,—NH,, CH37(|3HfCH3 , |
NH, |
CH,-NH-CH,~CH,, CHE—ITI—CHa I
CH, |
Total = 4 |
|
136. (2) | 139. (4)
x=45m2nt, y=4cos (2n) | - v
Squiring and adding X2+y2=42 = R=4 | Va ’
= Circular motion | A/ \ B
V =0R = (2n) (4) = 8n | A . ®
So, Ans. is (2) | ® ®
137. (4) I For collision \/5,, should be along B, A (7a/g)
E of x-ray E (100 ev to 100 kev) | o
V, - V. 6,
138. | 2” Ve _ _hTh
38. (3) | So, IV, =V, = Inn
I 140. (2)
| For first minima
| AP-BP =1
|
i=4€?/ |
|
|
45° |
|
ForTIR i>i sosini>sini, |
1 |
sin45° > 5 = p>+2 = p > 1.414 |
|
|
|
|

2
So phase difference = Tﬂx 2 =7
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\Y

Since area under the curve is max for adiabatic
process so work done on the gas will be max for

adiabatic process.

Ree= /A 0,A = eqheg

20 ! (01 + 0,
SeaA A | 0407
20162
Ceq™ — . -
€q (O )

Date-25/07/2015 RE-AIPMT-2015/Code #D
141. (3) | 145. (1)
|
mV  y2m(kE) | X, =1/co
R —="—"— |
aB aB | —MM:—|
2
Since R is same so KE « % | R
| (=)
So KE of a particle will be 4 =same = 1 MeV |
Vv
Ans. is (3) | 2
| 1= R +(1]
142. (4) | Co
|
1
200 | v X(_]
y | _ 1 2 (e10)
| VC - R2 +(C—)
(O]
Op |
4080 = I Ve = JRew)? +1
| L | If we fill a di-electric material
| | CT = v
E =30v | Ans is (1)
|
i
| 148, 7))
Resit f ter = M =19.2Q l
esitance o ammeter = 480 + 20 = . . | he
| KE, .. = ooV
NN EE, |
'T 208+192 " | @ o120 o
Ans. is (4) | max 500
| KE,, = 2.48-228=0.2ev
143. (1) |
p = py(1-vAt) : h ?uo*’“
I~y
Ap | " V2B e T 24910 31 x0.2x1.6x10
o =YAT=(5x10%) (40) = 0.02 |
0 _2 -9 _ -9 2 -9
| Ao = g 107 =2.80 x 10 nm 502 22.8x10°m
Ans. is (1) | Ans. (2)
144. (4) I 147. (4
AP |
| A o, G,
+\_ adiabatic |
: | ‘ ¢
iisobaric : / / £
|
|
|
|
|
|
|

Ans. (4)
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148. (4)
_ 15 _ 100 -0
= 045 - 3 O
(of=(ni+ott
0_@+ 15 _ 100
- 3 (—(X)( ) o= 5
100
©=() () =3x 5 =6.66 N.m.
149. (1)
V-V
e
19.4
. _v-0
F=1001V"Ge) 60°

19.4 cos60° =9.7

9.
f1=100[ +H] =103 Hz
150. (4)
V4
Vv 4=0
—_ @ —_— 90°
Pi=Pf
(A% 2
= P =|p| = =mv = [mgj +(mV;)
= &V Ans
2 3
151. (3)
1
— 2
K.E. > I w

I is min. about the centre of mass
So. (m,) (x) = (m,) (L-x)

m,L

X=
m, +m,

152. (1)

7
lﬂ v E

153.

154.

155.

156.

157.

158.

@)

U_ s Th+a

2 2
KE,, = P— KE, = F
2my, 2m,
sinc m_ is less so KE_ will be mone

@

When e comes closer the induced current will
be anticlockwise

When e~ comes farther induced current will be
clockwise

@)
A =a
oA=f
_¢

= co—B
oo 2n_ 2

) o
()

Anx _9+1 6 3
Amin 5-1" Z - E
Imax 3)2 9
o [E 4

(1)

V=6xy—-y+24z

B [avA oV - avA]

— I+ —j+—Kk
ox oy oz

E::{(6y)?+(6x-—14—22)]+(2y)ﬁ}

E‘ = —(6i+5]+2k)

(1,1,0)

™

Attraction between the plates

_ q2 _ _ €A

F= 2A¢, where q=CV and C = d
_Chv? v’
T 2cd  2d
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159. (1) I 165. (4)
| No. of mole of gas = 1 so molar mass = 4g/mole
1
=tan30°= —==0.5 | _ [RT yx3.3x273
u 73 | —— = 952x952 22107
p,=0.57 =0.6 | 16 _8
=vy=1.6= =
1 | 105
= — 2
- Ut+Zat I Y:g—P:% osCF,=8L55:8jk'1mole‘1
\%
1 1
4= a(p=a= =05 | 166. (4)
a=gsind —, (g) cos6 I B e mv,2 _ 2mv3 _ 4mv3
¢ r (r/2) r
0.9 | _o
3“K=ﬁ=0-5 | SOV, =2V
| 167. (4)
160. (3 |
) | GM R2
Lr(£-1) |
ki WP 2P | 9.8x6.38x6.38 _ Joo e
| —663><106 =+60x10°m/sec
1 11 | '
—=R, e | =7.76 km/sec
Ay 2 3
_— ! 168. (3)
k_1 o7 | Fundamental frequency = highest common factor
2 ¥
i =105Hz
161. (4) | 169. (4)
|
3.5-0.5) 9 9 Tc
cop=—-= = =5
Current 100 | wooq-g Ty-Tc
3 I T, =5T,-5T,
=——A =30mA =
100 | 6T, =5T,
162. (3) I T, = g x 253k =303.6 k = 30.6°C = 31°C
The gravitation force on the satelite will be aiming |
toward the centre of earth so aceleration of the | T
satelite will also be aiming toward the centre of | .
earth | 1
163. (4) I
. - (0]
If If L = constant thent=0 |
so 1 xF =0 = E should be parallel to i so coefficient I
. : o 3 6 Q-
should be in same ratio.So 2" 8- 12 |
Soa =—1Ans (4) I T,
164. (1) |
| 170. (1)
_ ' Eor |1 | Water will not overflow but will change its radius
K = potential gradient = "y ;)L | of curvature.
| 171. (1)
Eqrt
soE=K/= | pAMA _pBMB_3 P_A:p_AM_A_ MJ:E
(- | PR Pt RT TR pa My T oM 2
| My 3
|  so, =
| Mg 4
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(D Ta_rg‘Qt PMT Contact No : 011-41024601-05
excuuswewy ror menicaL enrance | E-maail : info@targetpmt.in Website : www.targetpmt.in Page No#6




Date-25/07/2015 RE-AIPMT-2015/Code #D
172. (1) | 176. (4)
|
V. = nprre
AL JLLLLLUARRRRANANS | o= TP
| 't'II't"bV:ﬁ
| critical velocity is given by Vc 2or
‘(A | so, x =1
A brass | y=-1 7z =1
steal I 177 (4)
hc 2hc 3hc
|k =—- ky =3k === —y=""-3
|| || | 1575 v 2 1= v X iy
| o 29 =PE _he
yzﬂ_i | s0 2V =" so V=1
A Al | 178. (1)
w/( | )
so AL =W | Volume inflow rate = volume anflow rate
2 2
Wil Wyl | _nR°V VR
— = RV=nmr?(v) = V= =
Ay =48, AY, AY, | " =) nar?  nr?
wi_ Y, I 179. (2)
wy Y, | A = coswti + sinwij
173. (3 = = x
®) B=coslti+sinltj
CE amplifier causes phase difference of - 2 2
. ! for AB=0
_ - 15t + — N
n(=180°)soV,, =300 cos [ St n) : AB=0= coswt.cosW?t+ sinwt.sin—
174. (3) | ( Wt] (Wtj
| = cos| wt—— |=cos| —
| 2 2
| ... NN o
| 2 2 w
| 180. (1)
|
< > | ki
d=f, +f, |
|
Magnification by eyepiece : _
f | >B
m=——
f+u |
L [ -
L%+ ((f+f.) =LY, I \ b
f, L '
M= TT |
T=MxB = sin
° | i =MxB =MBsin60°
175. (4) | = Ni AB sin 60°
C EV - PAY | e
power = F.V = PAV = pghAV | =50x%x2x012x0.1x0.2x >
=13.6 x10° x 10 x 150 x 10° x 0.5 x 10/ 60 watt | A ,
= 1243 x10Nm = 0.20784 Nm
= gwatt =1.70watt |
60 |
|
a a
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